
INSTRUCTIONS FOR MOUNTING B&W 801 SERIES III 

LOUD SPEAKERS TO SOUND ANHCORS STANDS 

 

 Thank you for choosing Sound Anchors for your B&W 801 series III loudspeakers.  Follow these 

simple instructions and you will be rewarded with musical enjoyment for years to come.  As it is with any 

other device made to enhance musical enjoyment attention to detail while setting up your stand will 

produce the most satisfying results. 

 

INVENTORY 

 1. Stands (2) 

 2. Spikes (6) 

 3. 3/8 Flatwashers (6) 

 4. 3/8-16 jam nuts (6) 

 5. M6X25 socket head cap screw (8) 

 6. 1/4 flat washer (8) 

 7. 1/4-20 x 3/8 (2) already installed in stand 

 8. 1/4 flat washer (2) already installed in stand 

 

1.  Using the 3/16 hex key that is provided loosen the bolt which holds the rear cross piece in place.  

Loosen only enough to allow the rear cross piece to be adjusted and no more. 

 

2.  Install the spikes into the threaded inserts in the bottom of the stand along with their jam nuts and flat 

washers, do not tighten. 

 

3. You can adjust the tilt of the stands using the threaded spikes.  Tilting the 801 speakers back tends to 

give better result in larger livelier rooms or for taller than average listening positions.  Level is fine for 

most cases but if you are listening up close or your room is smaller than average you might find  the tilt 

forward position will work best fory you. 

 

4.  Place the stands on the spot here you think that you will want your speakers for best listening. 

 

5.  You will need to enlist the help of a friend or two for this step.  The B&W 801 series III is a very heavy 

piece of audio componentry.  With this in mind care must be taken when you lift the speakers onto the 

stands.  Lift your speakers up and place them onto the stands so that the inserts on the front bottom of the 

speakers line up with the slots on the stands. 

 

6.  Install the M6x25 socket head cap screw with a flatwasher into each of the front speaker inserts.  

Center up your speaker and tighten the front mounting screws using the provided hex key. 

 

7.  Adjust the rear cross piece so that the slots line up with the inserts on the rear bottom of the speakers. 

 

8.  Install an M6x25 socket head cap screw with a flatwasher into each of the rear speaker inserts.  Tighten 

using the provided hex key. 

 

9.  Tighten the adjuster bolt that was loosened in step 1. 

 

10. Set the fore aft tilt of your 801s using the spikes.  You will no doubt want to try different speaker 

placements and tilt adjustments.  After finding this final position you should tighten the jam nut on the 

spike. 


